
rl.teq'rsa Tl(El6q'l {<-s r{
qtfr-T {<-s-r{, "rfr E-ffi-{ s q:r<Fi 16"lr{-{

qtfrT {<-+T{ R-stE

c{--<-) IFII
<I(Ercq-'t {R{rE-s, Efol

www.lgd.qov. bd

-{-Y< : 89. oo.oooo.ovg. )b.ooq.)c-81o

rt"r Elfr{f{ {Efre
slT.Rrf,{ffi

ffi{: r.s ?uq )8r:o
os eAE a.oa.8

qft{ qlrq't

1F--{tm*f 4T ffi{'f 9r(S gS-qT CgT{r{ qto"rm cfr-+q-\,.]-{ frfit q(frffi q-{"r< q{,q{, {< wrqEq-cs

{l

trBT qtfrr-q< tmtttfr frrN <f{s '[6h.< 
qfuRs nfrq emn s-fl qffil:

qN, Em.fr is <6{E sfq{ qfuRs qTfrcy< GfqE
q-{1-{ q{,q{, 5 stT{Nn

ftitt qrdTfr
4esflqf cfrrq-oJ, 1n"{T

^ 
/Q A\

r{<Rf errsFI-{I

mfits (ftrq-vJ, rlf"fK

{rellqat re-f"rm< qsilq:{-@(T qIaT\5 e q.Rfi"tqk-{63 FFfs< {f,{ r

{(-89.oo .oooo.og9. )b. ooq. )c'-8 ro/> (s)

{qTr q<or& e effi{ $Tql crqc"Rr q-{ wifrPf cQ3cl s-f,l.qq (6srr$\5r{ @rlr$Iffi 4T):

) r 1"nwG< F"r{E-{-n-{q$-q{), qtfr{{{sT{kgto|., <T<qt6q-"1 {F{rE-{, El+]
q I flqtrd F"f{ Enrn-a,), qfAH T<-s'f{ fr-q{, <T<efcq't{F{fqT, Ef+]

e r $;rfrT {tK qs'rg {B<, effiT x+oK, "rfr E-NT-{ € q'T<l{ {qqlq{, <I(utlcn"l'qF<lqs, rrol
8 | Sqqtr< 1cfr-< r.), q'rfr{ rr<-sl( ko;o1, <lqElrqa {F<'E{, ul+]
c I G-T<', Tlq-$.rilql (fr<-q-o-I, {E-filr+?'r<11 cfr-<avt, {rrfrf,
s I {frr<-< qs'rg qB<, qrfr-T }rf,or< kslo|., il(Em'f qF<lqx, uro[
q I cqlefNr<, qtft{ {<-or{ ksH, <l<nlfi-t {FflE{, ulsl
b r q-{-r{ q{,q{, 

1-< 
qrq{q-, fr{lQ eJ-d'rfr, '|.RstllEl (ft+q-vJ, t{-{T

b r qftqsf"f

I +bboqbG)8)8q
t-IIAe lepaura I (@rlgd.gov.bd

ier*q: r.s tDE )8eo
cs efqE a.oQ.8

B'Htr<


